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RD A0k (S50, Afk1230%, Bi#Kk2530%, Ck3530% )
(1) 250m = km (2) 2 450m= Kpd km
(3) 10 = 7 (4) 5404 = H
(5) B 100m= K¢ km (6)  0.5cm= mm
(1) 43 1500m= Fhik m (8) 248 = 7
(9)  Wp# 48km= 43 m (10) 964y = IR
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RD DK, (S0, Afk1530%, Bik25330%, C#3430% )

(1) 840m = km (2) 2 150m= ks km
(3)  12Hf = 7 (4) 9604 = H

(5) b 50m= Rk km (6)  0.9cm= mm

(7) 4 1440m= ikl m (8) 54 = vl

(9)  WpHE 24km= 4 m (10) 10847 = IR ]
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RE7AN By = - E - EE 01

RD )D&, (S50, Afk1430F, Bik24330%, C#37330%)
(1) 250m = 0.25 km (2) K 450m= I5H 27 km

250 + 1000 = 0.25

(3) 10§ = 600 o

60 x 10 = 600 77

(5) 3 100m= FpH 360

100 x 3.6 = 360

P m x 3.6 = FiE km

(7) 4y 1500m= ik 25

1500 = 60 = 25

(9)  Hp#H 48km= 4y 800

48 x 1000 + 60 = 800
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km

450 x 60 <+ 1000 = 27

(4) 540% = % H

540 = 60 = 9 K¢

oy 9 _ 3
9+2U= 2 =
(6) 0.5cm= 5 mim
0.bx10=5
Q) um=| 2 |»
5
cen_ 24 _ 2
24 — 60 = 0 3
(10) 964y = 1% I
96 _ .3
96 60—60—15

Yo R % b X,
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RD XK. (SHH50f, Af14730F, B#2430%, C#3330% )

(1) 840m = 0.84 km

840 + 1000 = 0.84

(3) 12 K¢ =

720 ga

60 x 12 = 720 47

(5) il 50m= IpE 180

50 x 3.6 = 180

P m x 3.6 = FiE km

km

(7) 43 1440m= ik 24

1440 + 60 = 24

(9)  HEpH 24km= 473 400

24 x 1000 = 60 = 400
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(2) 43 150m= 9 km

150 x 60 + 1000 =9

(1) 960%r = % E
960 = 60 = 16 K[
Coy_ 16 _ 2
16 =24 = o =3
(6) 0.9cm= 9 mim
0.9%x10=09
9
8 54 b = 2 4y
(8) H 0 %)
a9t _ 9
54 = 60 = 5 = 10
(10) 1084 — % IR
108 4
108 +60 = —— =1=
08 = 60 o0 -

e I % <b ko,



http://www.enjoymath.sakura.ne.jp/index.html

